rogression: Hard

Subtracting Multiples of 1000 From 5 Digits (B)

I

58809 - 11000 =

64895 - 36000 =

48328 - 38000 =

50284 - 47000 =

85006 - 23000 =

73322 - 58000 =

51616 - 26000 =

62099 - 36000 =

74141 - 18000 =

59909 - 25000 =

75023 -17000 =

85091 - 13000 =

63901 - 21000 =

72677 -19000 =

80966 - 65000 =

97202 - 82000 =

82843 - 15000 =

58239 - 41000 =

30525 - 27000 =

94400 - 61000 = .

Stic \\‘.

How confidently can you subtract
multiples of 1000 from 5 digits?

Not Confident

Fairly Confident =~ Very Confident
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